I’ve put Warren’s words within quotation marks.

1. The fetus is a potential person: “if nurtured and allowed to develop naturally it will very probably become a person.”

2. Therefore the fetus has “at least some right to life.”

Diagram: 1 ( 2.

Warren evaluates the conclusion of this target argument in her second paragraph:  “Such a right could not possibly outweigh the right of a woman to obtain an abortion.” (She restates this conclusion at the end of the fourth paragraph.)  She gives an argument for this evaluation in para. 2 (actual persons’ rights outweigh potential persons rights), but then says that “since [her argument] may not be immediately obvious in the case of a human fetus, let us look at another case.”  This “other case,” which she describes in paras. 3 and 4, is an argument from analogy involving a variety of cases involving a space explorer: (1) losing her life, (2) losing a year of freedom, (3) losing a day of freedom; (4) getting captured through no fault of her own, (5) getting captured through her own carelessness, (6) deliberately getting captured knowing the consequences.

State the background information and state or diagram these six analogous arguments, then turn the page to see my answers.

General background information for all six of Warren’s analogs:

[A] space explorer falls into the hands of an  alien culture, whose scientists decide to  create a few hundred thousand or more human beings, by breaking her body into its component cells, and using these to create fully developed human beings, with , of course, her genetic code.  We may imagine that each of these newly created individuals will . . . be a person.  Imagine that the whole project will take only seconds, and that its chances of success are extremely high, and that our explorer knows all of this, and also knows that these people will be treated fairly.  [The space explorer has a chance to act and escape.]

Specific background information for six different variations:

(1):  the space explorer will die if she does not escape.

(2):  the space explorer will be imprisoned for a year for the process, but not lose her life, if she does not escape.

(3):  the space explorer will be imprisoned only for a day if she does not escape.

(4):  the space explorer was captured through no fault of her own.

(5):  the space explorer was captured because of her own carelessness.

(6):  the space explorer deliberately got captured knowing the consequences.

The analogous argument is the same in each case:

1. Each of the few hundred thousand or more cells is a potential person: “all have a very high probability of becoming people very soon, if only she refrains from acting.”

2. Therefore each of these cells has “at least some right to life.”

Diagram:  1 ( 2.

I would not fault you if you built the background into six different arguments.  Always do what you think will be clearest and easiest for your reader to understand.
